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(H Burning of wood as a fuel is good.
(a) Agree  (b) Disagree  {c) Undecided

(2) Personal cleanliness keeps us healthy and protects us from
disease.

(a) Agree  (b) Disagree  {c) Undecided

(3) I mould like to convert all deserts in to big forms.
{a) Agree  (b) Disagree  {c¢) Undecided

(4)  The level of carbon dioxide due to various human activities
results in increasing.

(a) Agree  {(b) Disagree  (c) Undecided

(5) It is better for the industrial workers to live near the industries.
(a) Agree  (b) Disagree . {c) Undecided

(6) During celebrations use of firecrackers should be minimized.
(a) Agree  (b) Disagree  (c) Undecided

(7) Forest protects the land from organic deterioration.
(a) Agree  (b) Disagree  {(c) Undecided

(8) Wild animals are a tervor. They must be shot dead.
(a) Agree  (b) Disagree  {c) Undecided

(9) Through judicious usage, significant amount of resources can
be saved.

(a) Agree  (b) Disagree  {c) Undecided

{10) Since Scientist can solve our environmental problems we do
met have to worry about it.

(a) Agree  {(b) Disagree  (c) Undecided
(11)  Sunrise is worth getting up early to see.
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(1) Burning of wood as a fuel is good.
{(a) Agree  (b) Disagree  (c) Undecided

(2) Personal cleanliness keeps us healthy and protects us from
disease.

(a) Agree  (b) Disagree  (c) Undecided

(3) I mould like to convert all deserts in to big forms:.
(a) Agree  (b) Disagree  (c) Undecided

(4)  The level of carbon dioxide due to various human activities
results in increasing.

(a) Agree  (b)Disagree  (c) Undecided

(5) It is better for the industrial workers to live near the industries.
(a) Agree  (b) Disagree . (¢) Undecided

(6) During celebrations use of firecrackers should be minimized.
(a) Agree  (b) Disagree  (c) Undecided

(7 Forest protects the land from organic deterioration.
(a) Agree  (b) Disagree - (c) Undecided

() Wild animals are a terror. They must, be shot dead.
(a) Agree  (b) Disagree  (c) Undecided

(9 Through judicious usage, significant amount of resources can
be saved.

(a) Agree  (b) Disagree  (c) Undecided

(10) Since Scientist can solve our environmental problems we do
met have to worry about it.

(a) Agree  (b) Disagree  (c) Undecided
(11)  Sunrise is worth getting up early to see.
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